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Due to inclement weather, an Aero plane reduced its speed by 150 km/hr. and reached the
destination of 4500km late by 1.5hours. Then the schedule duration of the flight was?
खराब मौसम के कारण, एक एयरो विमान ने अपनी गति 150 ककमी/घंटा कम कर दी। और 1.5 
घंटे की देरी से 4500 ककमी के गिंव्य पर पह ंचा। िब उडान की तनर्ााररि अिधर् ककिनी थी?

1)7.5hours
2) 6 hours
3) 5 hours
4) 4 hours



The length of the diagonal of a square is 𝟗 √𝟐 cm. The square is reshaped to form a triangle.
What is the area(𝒄𝒎𝟐) of largest incircle that can be formed in that triangle ?
एक िगा के विकणा की लबंाई 𝟗√𝟐 सेमी है। त्रिभ ज बनाने के ललए िगा को किर से आकार ददया 
जािा है। उस त्रिभ ज में बनने िाले सबसे बड ेितृ्त का के्षििल (𝒄𝒎𝟐) क्या है?

1) 9𝜋
2) 12 𝜋
3) 8 𝜋
4) 6 𝜋



If sin2x=cos (3x-45°), then x equals to -
अगर sin2x=cos (3x-45°), िो x बराबर है -

1) 27°
2) 40°
3) 35°
4) 45°



The product of two co prime number is 675, then find their LCM?
दो सह अभाज्य सखं्याओं का ग णनिल 675 है, िो उनका LCM ज्ञाि कीजजए?

1) 27
2) 675
3) 25
4) 35



The average marks of 45 students was found to be 66. If the marks of two students were incorrectly 
entered as 28 and 64 instead of 82 and 46 respectively, then what is the correct average? 
45 छािों के औसि अकं 66 पाए गए। यदद दो छािों के अकं गलि िरीके से 82 और 46 के 
बजाय क्रमशः 28 और 64 दजा ककए गए, िो सही औसि क्या है?

1)67.2
2)66.8
3)66.4
4)66.6



The price of sugar is increased by 20%. A person wants to increase his expenditure by 10% only. By
what percent should he decrease his consumption, nearest to one decimal place? 
चीनी की कीमि में 20% की िदृ्धर् ह ई है। एक व्यजक्ि अपने व्यय में केिल 10% की िदृ्धर् करना 
चाहिा है। उसे एक दशमलि स्थान के तनकटिम अपने उपभोग में ककिने प्रतिशि की कमी करनी 
चादहए?

1)10%
2)8 1/3%
3)11 1/9 %
4)20%



An article is sold for Rs. 657.90 after successive discounts of 15% and 10%. What is the marked
price of the article? 
15% और 10% की क्रलमक छूट के बाद, एक िस्ि  657.90 रुपये में बेची जािी है। । िस्ि  का 
अकंकि मलू्य क्या है?

1) Rs. 860
2) Rs. 900
3) Rs. 880
4) Rs. 920



Two articles are sold for Rs. 10,005 each. On one, the seller gains 15% and on the other, he loses
13%. What is his overall gain or loss percent?
दो िस्ि एँ प्रत्येक 10,005 रुपये में बेची जािी हैं। एक पर, विके्रिा को 20% का लाभ होिा है 
और दसूरे पर, उसे 25% की हातन होिी है। उसका क ल लाभ या हातन प्रतिशि क्या है?

1)2.52% gain
2)1.42% loss
3)0.94% loss
4)NOT



In ∆ ABC, AD is a median and P is a point on AD such that AP : PD = 3 : 4. Then ar(∆APB) : ar(∆ABC)
is equal to ?
ABC में, AD एक माजययका है और P, AD पर एक ऐसा त्रबदं  है कक AP: PD = 3: 4। िब ar(∆APB): 
ar(∆ABC) ककसके बराबर है?

1)2 : 7
2)3 : 4
3)3 : 7
4)3 : 14



If a + b + c = 8 and ab + bc + ca = 12, then a³ + b³ + c³ – 3abc is equal to: 

1)224
2)144
3)400
4)192



Chords AB and CD of a circle, when produced, meet at a point P outside the circle. If AB = 6 cm, CD 
= 3 cm and PD = 5 cm, then PB is equal to:
एक ितृ्त की जीिाएँ AB और CD, उत्पन्न होने पर ितृ्त के बाहर एक त्रबदं  P पर लमलिी हैं। यदद AB 
= 6 सेमी, CD = 3 सेमी और PD = 5 सेमी, िो PB बराबर है:

1)6 cm
2)6.25 cm
3)5 cm
4)4 cm



A is 40% more efficient than B and C is 20% less efficient than B. Working together, they can finish a
task in 15 days. In how many days, will B alone complete 75% of the task? 
A, B से 40% अधर्क क शल है और C, B से 20% कम क शल है। एक साथ काया करिे ह ए, िे एक 
काया को 15 ददनों में समाप्ि कर सकिे हैं। ककिने ददनों में B अकेले काया का 75% पूरा करेगा?

1)36
2)48
3)32
4)44



In a circle with centre O, AB is the diameter and CD is a chord such that ABCD is a trapezium. If
∠BAC = 25°, then ∠CAD is equal to:
कें द्र O िाले एक ितृ्त में, AB व्यास है और CD एक जीिा इस प्रकार है कक ABCD एक समलबं है। 
यदद BAC = 25°, िो CAD बराबर है:

1) 45°
2) 65°
3) 40°
4) 25°



If tan 4θ = cot(2θ + 30°) , then θ is equal to:

1) 10°
2) 20°
3) 25°
4)15°



If a + b = 5 and ab = 3, then (a³ + b³) is equal to ?

1) 70
2) 75
3) 80
4) 65



What is the least value of x such that 517x324 is divisible by 12? 
x का न्यूनिम मान क्या है कक 517x324 12 से विभाज्य है?

1) 3
2) 1
3) 0
4) 2



A train without stoppage travels with an average speed of 65 km/h and with stoppage, it travels
with an average speed of 52 km/h. For how many minutes does the train stop on an average per hour? 
त्रबना रुके एक टे्रन 65 ककमी/घंटा की औसि गति से यािा करिी है और स्टॉपेज के साथ, यह 52 
ककमी/घंटा की औसि गति से यािा करिी है। टे्रन औसिन प्रति घंटे ककिने लमनट के ललए रुकिी है?

1) 13
2) 15
3) 12
4) 14



∆ABC ~ ∆QRP and PQ = 6 cm, QR = 8 cm and PR = 10 cm. If ar(∆ABC) : ar(∆PQR) = 1:4, then AB is
equal to:
ABC ~ QRP और PQ = 6 सेमी, QR = 8 सेमी और PR = 10 सेमी। यदद ar(∆ABC) : ar(∆PQR) = 1:4, िो 
AB बराबर है:

1) 2 cm
2) 5 cm
3) 3 cm
4) 4 cm














